KEY REVIEW

True-False Questions

____
1.
Few companies are achieving competitive advantage through supply

chain management.


_____
2.
Inventory turnover is the average aggregate inventory value divided by cost of

            goods sold.   

_____
3.
Supply chain efficiency is measured based on the size of the chain’s

inventory investment.

_____
4.
Value density is an important measure when deciding where items 


should be stocked geographically and how they should be shipped.

_____
5.
Outsourcing moves some of a firm’s internal activities to outside providers.

_____
6.
There has been dramatic growth in outsourcing in the logistics area.

_____
7.
Unions view outsourcing favorably.

_____  8.
Inventory ties up funds that could be used for other purposes and a firm may have to borrow money to finance the inventory investment.

_____
9.
Process postponement refers to the delay of the process step that

differentiates the product as late as possible within the supply chain.

_____
10.
The bullwhip effect refers to the costs for a company to produce the

goods or services provided to consumers.

Multiple-Choice Questions

_____
11.
Innovative products:




A.
Include fashionable clothes and computers




B.
Enable a company to achieve a higher profit margin




C.
Typically have a life cycle of just a few months

            D.
All of the above




E.
None of the above

_____
12.
The inventory turnover is mathematically the inverse of the




A.
Gross margin




B.
Weeks-of-supply




C.
Cost of goods sold




D.
Profit

_____
13.
All of the following are true about inventory, except:




A.
Inventory is an investment.




B.
Inventories tie up funds that could be used for other purposes.




C.
Firms may have to borrow money to finance inventory.




D.
All of the above are true.

_____
14.
Functional products are:

A. Products with short life cycles

B. Staples people buy in a range of retail locations




C.
Do not include products in gas stations and grocery stores




D
Products that change over time

_____
15.
Reasons to outsource include:




A.
To increase costs




B.
To reduce investments in assets




C.
To focus on new and different areas or activities




D.
To increase investments in assets




E. 
All of the above

Problem 

16.  
Compute the cost savings using UPS over FedEx to deliver the following
         
weights of gift packages for a catalog merchant from Atlanta, GA to
         
Chattanooga, TN. Then compute break-even product value and value per
         
pound assuming an inventory cost of 20 percent per year of the product
         
value (which includes cost of capital, insurance, and decrease in
         
warehouse costs) and 365 days per year.  (Fill in the last three columns in
         
the chart below.)
Shipping


Cost

Break Even


Weight in
UPS
FedEx
Savings
Product           Break Even Value


Pounds
3 days
1 day
with UPS
   Value
     In pounds         
1

 4.10
15.60


2

 5.30
17.20


3

 6.40
19.80

4

 6.90
24.60

5

 7.90
35.90

10

10.20
35.60

20

15.80
42.40

Shipping cost savings = inventory carrying cost

For 1 pound (15.60 – 4.10 =  11.50)

11.50 = [(x)(.20)(2)]/365

Solving for x we have [(11.50)(365)]/[(.20)(2)]

112
185
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